Junior Mathematical Olympiad - 2022/ gRAQFICAAITRIR ARG S - 9099

December 11, 2022 / G692Q1€€, 9099
Answer all guestions. Give justification to your answer.
AN YYARRQ G2 | QAR A2ILGI T |
Use of Calculator (in any form) is not allowed.
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Time/<de1%k: 3 hours / 9 W<€l Full Marks/qﬁ Qe 99 /¢ |
(Answer all guestions. Each question carries 5% marks)
(V1S Y49 2QQ G | goIe 94 Y 8§ 269 1)
-
1)  Given that in the figure, A and B are two squares of sides 5 cm and ‘B

8 cm respectively. Find the area of the shaded region in this figure.
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2) 2 persons A and B have together 100 balls. 1/3 of the total number of balls of A is 16 more than 1/10
of the number of balls of B. How many balls each of A and B have ?

9y 9@ Q‘I@A 3 B QlISI6Q A6AIE €oo & om 28 108 A Q em L°GUIQ €/9), B @ @@ Q°cliia ®/R0 OIQ
9 2R 99, 6069 A B B AIHER 6R6S1T CRAN R 2T | _

3) In the given figure, A and B are two squares. Sum of the areas of these
two squares is 202 sg. cm. Find the perimeter of this given figure.

N 9@ 9Q 6Q A 8 B 9% QeI Q8 @ L QGI@@ FlIemQ AT ' B
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4) How many digits are there in the product 4" x52x10
%) 457X 10" qEoaca 686016 A 28 ?

1 1 1
5 : + + Forrereenens .
) Evaluate TEATENYT upto 100 terms

8) ﬂ|9§gg§@azezg+9fm+mix+ ........... Qoo U@ Adie | S
6) iven fi + 211+ 2 12=7 « \

In the given figure, 2 1+ 2 2+ ~ 3+.........
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In the given figure, ABCD is a square of side 8 cm. Given AG = EC =5 cm, find
the area of shaded portion EFGH.

oa 5Q 69 ABCD Ne T 62 og @da QEI6RQ B AG = EC = 8 69 G@Gﬁ,
EFGH @ cAQTR ??Qﬂé‘l {a |

Find the sum of first 2022 terms in the following;
1,2,3,4,1,2,3.4;1,234; ..........

79 2gea6a gaf 9099 & a9q AN FQad eQ |
R,9,9,%; €,9.0%;€,90%; ..........

Find the sum of all digits of the result in the subtraction 100**° —999

Q00— CCCAHITA ANY AFAIRFR ANT, FQAS @ |

Write in increasing order of the following numbers
2°% 227 222% 2222

FORGie <a°<a1qmm; AFQ Q@ gﬂsa IS4
9’ 99" 999° 9999

If m persons do a job in d days, then find the number of days in which (m+r) persons can do the same
job.

A% m K8 QG IR FIAQ d TFEQ FAG, 66 (M+r) K€ AUG, 6L NG EREC TREA FAITRER |

What will be the remainder when 22%%%is divided by 2022 ?

9°°%g 9099 QIAI AITNER ATEHY 6R66 QTR ?

If an article is sold with a discount of 5% then the profit is 5%. What will be the percentage of profit if
no discount is given.

o~ o~
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One sheet of a note with 32 pages is torn. If the sum of pages of the remaining sheets is 495 then
what is the page nhumbers of the two pages of the torn sheet ?

N9 gl & Il 9@ GlieIa alols %@,\'] R QIR | 9% RAIRZQI QA Jeee ANF ¥ 8 9496069 6Q9
Qa1 Q@ 89l [0S Hé@ OQ AIRR ?

Find the following sum
12=2%4+3*—4%+...—98%+99°

feclia cRIATR QA8 QQ |
=97+ =% 4. — O+

How many zeros are there at the end in the following product ?
1)(2)(3)(4)(5)("' llllllllllllllllll xggxloo .

PEANP JITRA 6HVERQ 6RERIT 0 2T ?
P VS —— % 99 x 100
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The hour hand was in between 4 and 5, the minute hand was in between 5 and 6 when | left home.
When | returned home | observed that the location of hour hand and minute hand are interchanged. At
what time did | leave home ?

QQ_@QIQIQQI QAAKER QIR ¥ § 8 AUIER 6 FRC @91 8 3 9 AER Al | QQG@ R LA9eQ
6QGin ALIRY YINEQ AR @4l 8 FIFe 4l AIFER AWRY 2T | 66969 ?1696@6@69 aQ QI2NR8R ?

Two buses left Cuttack and Balasore at the same time and moved towards Balasore and Cuttack
respectively. They reached their destination respectively after one hour and four hours of their
meeting time. If the first bus has speed 60 km/hour what is the speed of the second bus ?

900 9K IR AANER AAIFEA FOR 8 leNgQ RN QIQIRER | LG 6 G@G‘QIQ OR € Q91 a6a 8

¥ Q4] 96Q QIERYR 8 FeR6 9afem | 9o /g @ 699 a9l g6 0 @f caem Q@m Qg @ 694
6@6e ?
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